Spiral Reviews A
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xd— 3 +16

Name the degree. 4

Name the leading coefficient.
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2. Multiply:

S (xl — 4y +35}
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4. Write in Interval Notation:

X< —2 (- o0 |
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5. Write in interval notation:

—15<x <26

[-15, 26)

6. Domain and Range:
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Simplity. 18
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> Simplify. —5v_0x?
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Solve. 5i ( 7 — 6!)
x2+8= —41
._8 s
3. Evaluate: 4. Evaluate: =
bt - b2 =
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5. Evaluate: 6. Evaluate: 1 .
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7. Evaluate:

8. Rewrite in r_fadical form.
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9. Find the sIop:e:
(2,—3) and (4,0)

L)

10. Find the slope:
(—1, 6} and (3,8)
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1. What graph shape does this equation
make?

(x=3)2 4 (y+4)2 =25

2. Write an equation that fits the given
information.
Line 2 \j: | K Py
SIDpe = _; ‘ 3

Carc y-intercept = -8
3. Graphit. 4. Graphit.
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5. Describe the horizontal shift.

y=3lx+5]-2

ef4 5

6. Describe the vertical shift.
y=x2+3

7. True or False.

“Tr . V’ x2 =x

9. Factor: x2 —7x+ 10

N
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1. Find the slope of the line that

passes through the given points.

(2,-3)and (4, 0)

O

2. Write an equation that fits the given
information.

Absolute Value
a=-1
Vertex = (-7, 3)

i -y
\ \ - | ] )
LA ’ P 471 4+ -

3. Write an equation that fits the given
information.
Parabola
a=2
Vertex = (6, —2)

4,
Describe the vertical shift.

y=x°+3

g Y=2(x+57-8

Vertex: (-5, ~5)

6. Write an equation that
represents the graph shown.

m® + Bm - 14

lft

8. Factor and Solve.
X% 12x+20=0

( X -2)x-10)=0

X=2 X=zl\p

£

9. True or False:
7+ 11x + 5 has no GCF.

=1

10. Iszero asolutionto 6x+3 =07

NO

£
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